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Time: 10 Minutes Paper Math 5 (T-4) Total Marks: 10
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1st Month, 2nd Week, 4th Day|Unit # 1, Addition and Subtraction Q" /‘Iul(‘j‘

Q.No.1. Choose the correct option. 1x3=3) -J /'::,G:’i K4 T
i) Out of 888 997 children of a city 260 989 go to school, How much childern
do not go to school?

St RS 3 gp L JH 260 989 A U888 997U ALl
[(@)| 628008 [(b)| 218008 [(e)f 426008 [@] 715210 |
ii) There are 113 789 Mathematics books and 200 699 English book in a
library. What are the total number of Mathematics and English book?

?‘LQMJJ@WJ‘%.@W 113 78908 5%.51200 6996 It 82Ut

[(@)| 304288 [(b)| 316758 [(e) 341488 [@)] 314488 |

iii) Ali has Rs. 790 302. He buys one air condition for Rs. 115 219. How much
amount he left with?

?J;ﬁffjg&uf_w'u:ejns 219240 RISt 3,790 302ug£d’

[@)] 615081 [m)| 665086 [()| 675083 [@)]| 668084 |

Q.No.2.The annual yield of mango orchard is 656 565 kg. In the second year,

the yield of mango orchard decreased by 100 984 kg. How much mango
were produced in the second year? (1x2=2)

1% 100 9841 S UL T pmrg 17K 656 56514 0 S EAL 1L
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Q.No.3.The number of storybooks published in the first edition were 725 575.
In the second edition, 421 915 storybooks were published. Find the total
number of storybooks published in both editions. (1x2=2)
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Q.No.4.Fatima has Rs. 954 888 in her bank account. If she withdraws Rs. 135
600 from the bank to buy a laptop, how much money is she left with?
(1x3=3)
Ole_2/135 600G L& x 7_tdns I te 2,954 888U 5KIG L b
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Q.No.3.The number of storybooks published in the first edition were 725 575.
In the second edition, 421 915 storybooks were published. Find the total
number of storybooks published in both editions. (1x2=2)
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